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1. BSWT % Tsh SR o1 9 fAflgu |
AgA

Write the name of a port of Harappa.
Lothal

2. S o o ged weyyl diferes frgra
Frféan

The most important fundamental principle of Jainism is :

Non-violence
3. fmafciRad 4 & forg STEeh o GER | 9gd & 9gHI o1 ToXcd o 9 § 37cThd fhdl a7 o 7
T 11

In court of which among the following rulers, numerous scholars were adorned as

‘Navratnas’ ?

Chandragupta II
4. Tooel Head o METTRET TSterll H § fohE He€ W STafY qeh SMEF a1 ?
Reesht
Which among the following dynasty of Delhi Sultanate ruled for the shortest time ?
Khilji
5. soemSiduRdd faftmammasfar @y s s § fom |
&S HIfd < eEm |
Throughthe | Dalhousie annexed Awadh for the British empire in India.

Doctrine of Lapse
6. Tr=ferRaa § & formeh g <1857 i shifa Y syearma <hi it off 7
feranteat

“The Revolt of 1857 was started by whom among the following ?

The sepoys
7. wMAH HATeIeH o SUH, Tt gieT (e, B0 3R o) fesme foram mwem o |
eeft
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During the movement in Bengal, a tricolour flag (red, green and yellow) was
designed.
Swadeshi

8. Wl <1 reyr) wiferat <Y tem & forw, o T ot § Ueh RgcAThd HiHfd o1 T4
Topa T o |

To defend the Khalifa’s temporal powers, a Khilafat Committee was formed in Bombay in
March .
1919
9.  WRA TR AT, 1935 % TR T& AT o |1 foha =mamefiti shi i it it off ?
How many judges were appointed along with the Chief Justice according to the Government
of India Act, 1935 ?
6

10. fr=fafaa 3 @ F = gear i afafsean & WA SrEt 3T<ie <rerm = o ?
T foysm < forwetan

In response to which of the following events Quit India Movement was launched ?

Failure of Cripps Mission

11. AT Joid Soft H§ gl 3= Bk are 7
TERIER

The highest point in the Aravalli range is :
Gurushikhar

12.  IisAeRTer § 394 Bl § 984 diell 9o shadmdl @ ;
5§

The wind blowing in the northern plains in summers is known as :
Loo

13. YR ! A IR &1 2
82° 30" 4, TR
The Standard — Meridian line of India is :
82°30' E longitude

14. IR & Freferiad § & fopa foret 8 “Sfgros” diefeam safea 27
HieTg

In which of the following districts of Uttar Pradesh is “Naimisharanya” Pilgrimage situated ?

Sitapur
15. o G 8 St YA e 2
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——
Which is the highest Indian peak ?
Kanchenjunga

16. 3 3mfies Hifa o wmm=raan faewma Aiedd & ®9 H i SHET AR |

New Economic Policy is also popularly called model of development.
LPG

17. 15 i Ul Ueh TR U ¢ Al 30T %A | Y e Yefl TR & JIHR H Bl 7 |
51 wfo=ra

A government company is any company in which the paid up capital held by the
government is not less than :
51 percent

18. “TTGTHTS” SN <1 SURINT Fi § & forees forT gram & 2
a7

“Hallmark” is used as a logo for which one of the following ?
Jewellery

19. Y aer grefior &t ot ford - uiwor e areft weh Shedi A o weer R |
qreTe (NABARD)

is a central or apex institution for financing agricultural and rural sectors.
NABARD

20. 1991 % 3Tfieh GuRi = g1 forer o & fope Tme <hi 31 e feam o 7
Pl g o A 6
Which among the following was the issue being addressed through the Economic Reforms
of 1991 ?
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Crisis in Foreign Exchange Reserves

21. T # 9 F a1 sgese “on fagws” 1 aiiva war g 7
T 110

Write the name of Article which defines the Money Bill.
Article 110

22. 3 311ey & T Usu 1 fifat =61 fmior seed g s |t =nfae |
T +ifer % frewes fagia

are the ideals that a state must keep in mind while framing policies.
Directive Principles of State Policy

23. =1 1 O forad Hifctes shdedl i Secifiad fohaT1 TRTE ?
HW-IV <

The Fundamental Duties are mentioned in which among the following ?
Part-IV A

24. YR WG T 31eE 343 fhah SR A S ?
T <hY ST
Article 343 of Indian Constitution is about :
Official language of the Union

25. T @ @ i H Tt et & = A da-fafa f ad g R 2
65 4

Which among the following is the correct age of retirement of Judge of Supreme Court ?
65 years

26, FTAT IR AU FAA TN HAATH TR R 7
e

Which of the following is not among the seven colours of the rainbow ?
White
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27.

=1 1 9 fore e 61 TETSH 119 o &9 1 48 STHT ST 8 2
AT

Which of the following gases is not known as greenhouse gas ?
Argon

28.

IR et ferdent T=afeid M 2 7
HifeTm FEHe

Washing Soda is the common name for :
Sodium carbonate

29. 3 B (Hole) forud weferq 3 2
JAT TS | SIS I 61 HIeTs § HH F |
Ozone hole refers to :
decrease in thickness of ozone layer in stratosphere.
30. O 37 Uk o GEd: hal O UTH d & 7

fat

Where do plants receive their nutrients mainly from ?
Soil

31.

(625-223)x (3.35—223)+(0.0016 —2.987) =
1.517

32.

foram T v I TS <h1 w=d o1 U foeTe fowd, dfsctss Mifaee %e o 3ueh! s=d & 1Y &
TS B | Al 3Tk I Fot 7= b €9 H T 1,50,000 &, @1 38 qfectes Migde ®g ¥ fohaq i
TEAHI ]2
One-third of Manoj’s savings in Kisan Vikas Patra is equal to one-half of his savings in
Public Provident Fund. If he has ¥ 1,50,000 as total savings, how much has he saved in
Public Provident Fund ?

% 60,000
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33. 7 SRiHeh SIS 1 3H1Ed 20 7 | 31 SIS H & 49 IS H&AT 2 -
The average of 7 consecutive numbers is 20. The largest of these numbers is :
23

_(76+8 )2-(76—-84)% ”
34, O HIS —r = 7

(76+8 )2—(76—8 )?
76X84 o

?

Simplify :
4

35. V94445 =
2+\/§

36. “eR¥” b1 EEl Gy foewe & —
o0+ I

37. HUYA V&g 3AfoT-3Telt 36 I 1 T NG R 7 ?
Wio-aet

38. “9T <R GHHAT OTsc & =
Qe

39. ‘Tl o fodm wse B —
Tee

40. “Bleg BT St BAT 1 37 B —
T g M A T G |

Read the passage carefully and answer the corresponding questions : (Q. 41-42)

MASTER 7

Going to an all-boys high school was no fun. Joe’s parents thought it would be a good idea
to send him there instead of a public school because “he would get distracted by girls,” as his
mom would say. Once, during his third year, Joe begged his mom to let him go to public school.
“I just want to be normal,” he would tell her. “I want to meet girls. I don’t want to be weird.” But
his words always fell on deaf ears. Mom always said that Joe had plenty of time to go on dates
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after high school, and that he needed to concentrate on his school work. This usually made him
very sad, but like a good kid, Joe just nodded his head and went on with his studies. That all
changed one day when Joe met Carmen, who lived just two blocks away from him. One day he
ran into her at the market by chance. They had gone to kindergarten together. They were also of
the same age. She was in Joe’s class, and she remembered Joe, too.

After about two weeks, they were going steady. Joe was so happy, but had to hide his

relationship from his parents, which was okay because Carmen was hiding him from her family,
too! “Are you kidding me ?” Carmen said, “They would kill me if they knew I had a boyfriend!”
Everything was going great for a time, but Joe’s mom was right. His grades started slipping, and
he soon was on academic probation because he was spending too much of his free time with
Carmen. She also dropped a grade or two. As a result, both of them had to go to summer school to
improve their grades, but Joe didn’t care. He was in love and that was all that mattered at the time.

Much later, he came to realize his mom was right.

41. Joe’s mother did not want him to go to public school because
Joe would get distracted by girls

42. Where did Joe meet Carmen ?
Market

43. Choose the correct synonym : “random”.
accidental

44. Choose the correct antonym : “beautiful”
ugly

45. Give one word substitute of : “sensitiveness to the action of a particular food”.
Allergy

01 8 MASTER


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

46. BTG hl 3T ST Hd §C BTfceh J Hal, “Th Shelld S HI P R Tt HT qg 2 17
HIT fopd TepT E1feeh @ wafd & 2
THL ! T
Pointing to Falguni, Hardik said, “The son of her only brother is the brother of my wife.”

How is Falguni related to Hardik ?
Sister of father-in-law

47. T e foaehedi § | 3TERTA 1 =9 SHifT :
Choose the odd one out from the given alternatives :
4125

48.  8:20 I U T & H i 3 3TN e hl F o s 1 v [1d 19T |

Find the angle between the hour hand and the minute hand of a clock at 8:20.
130°

49. freferRga wea # € e fer T 2 3t 3@ =) s (1), (1), () w& (V) feg 7w € | 3|
fersenei (5T) =T =1 <hifSTe STt Tfebe &9 & U 1T el b1 STTER0T a1 3/ B |
HYT : IS AT FT AL B |
ooft o farfoerai 2 |
e
(I) IS SLaTaT fareett 781 2 |
(1) 1 foreef gramn & 2 |
(1) 3o fafeemrga 8 |
(V) ot fefeetai Ha & |
had (I10)
In the following question, two statements are given, which are followed by four conclusions
(D, (IT), (IIT) and (IV). Choose the conclusion(s), which logically follow the given statement.
Statement : No door is dog.
All the dogs are cats.
Conclusions :
() No door is cat.
(IT) No cat is door.
(III) Some cats are dogs.

(IV) All the cats are dogs.
Only (III)
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50. wfg SCHEME @1 TDIFNF o &9 § %fed feram a1 8, @ WONDER o foT i1 e 8 2

If SCHEME is coded as TDIFNF, then what is the code for WONDER ?
XPOEFS

51. fr=farfea § @ %9 @ <@ 2U2 gt @ wefia & 2

YR — RS — Y TE, — AT
Which of the following countries are associated with the ‘12U2 Grouping’ ?
India — Israel - UAE — USA

52. W Teh-ileh! TH.UA.3. &g a1 I 3EhNT hid < foTT ArEehiv TTHN I TS
BICKECUET R
e e

NASSCOM partners with government agency to attract investment for Indian tech
SMEs.
Australian

53. TR h TTH JTet] THICH H BT &1 H WA o $eAherd GI3 ol H 394 =sh Tt
3~1d N3¢ 3 3T 61 |
w9

state-owned Rosatom recently supplied upgraded N-fuel to India’s Kudankulam
plant with longer fuel cycle.
Russian

54. UYR @re geen A (NFSA) & U= b gaehies’ § 9= 2ot o Tsei o T
TR |
anfesm

state topped amongst the General Category States in ‘State Ranking Index for
National Food Security Act (NFSA)’.
Odisha
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55. 1. Toig YT Hfd bR fefotfiaa | & fope & @ weifa 8 2
Tl RIS

Dr. Rajendra Prasad Memorial Award is associated with which among the following fields ?
Public Administration

56. T T 9 ford TsT § W o YoM ‘37 GUEL 1 ST Tohal 7T 7
I

In which of the following states India’s first ever ‘Amrit Sarovar’ was inaugurated ?
Uttar Pradesh

57. freferiaa & & form U0 9§ et € # Rfm T YR T e E
TSTEIH

Uranium Mining Reserves have been found recently in which of the following states ?
Rajasthan

58. Tmfeiiga o & form U= 4 ST H Bt 720l g fHe T g Y 37 foram sheamon o foTe w18g
THET0T ST IE R TE R 7
BRI

In which of the following states, Honey Testing Laboratory has been launched by Union
Minister Narendra Singh Tomar for Agriculture and Farmers Welfare at Dimapur ?
Nagaland

50. oo i & form o 3 Sei worm “fva TRy @t e s 612 7
Which among the following companies has launched an industry-first ‘Global Health Care’
plan ?
Bajaj Allianz General Insurance

60. forEa ©.&.uH. Sigd 3R SAThalrs I, W.3718. fohe hut gra affea foRa T & 2
et

‘Wearable ATM Cards and Offline UPI” has been launched by which company ?
Acemoney

61. FfRea i a s AT Qe gucw s ?
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P ISEIEINHE]
Which among the following are two neighbouring island countries of India ?
Sri Lanka; Maldives
62. Fraforfea @ &M €t 3um HI T R 2
HEh
Which among the following is the capital of Oman ?
Muscat
63. F=faRaad® Tsh <hg ST Jew1 <l TSI 7 & |
JTESIA
Among the following is not a capital of Union Territory.
Aizawl
64. TTATcTREd § | S @ a1 o 99T exet (TfeRl) 9 7
OIS AT
Who among the following was the first speaker of the Lok Sabha ?
Ganesh Mavlankar
65. WRA W TP e feaw fpm fer wmmn st 2 2
193
‘The International Workers’ Day’ is observed on which day in India ?
1 May
66. frefarRaa o | form STet 1 o 1 “Hhe 8T HET AT 8 ?
SGAYL
Which among the following cities is called the ‘White City’ of Rajasthan ?
Udaipur
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67. “ETE HareHa” faeferitad O @ form Tsa § SrNfd fopan Strar @ 7
AfTgR

“The Sangai Festival” is organized in which among the following states ?
Manipur

68. T T ITHNHT HI TFIT TA 8
LRI

The National Game of the USA is
Baseball

69. Tr=feritaa & @ form =aftr 7 “fég T geaes fa@t 2 7
TETeHT et

Who among the following person wrote the book “Hind Swaraj” ?
Mahatma Gandhi

70. <gia or@reR (fiT i) &1 319 8 % 3TTeheH ol &I T T&d §U, o1 oh! TE 3™
hl HTYA |
EEAURCRRICIU R
‘Green Accounting’ means measuring the National Income of the country taking into

account estimation of
Pollution and environmental damage

FrfaRaa 31g=eg ! Ygeht I8 T =1 (V. 71 8 75) 3 SR N |

QU F9 H S AN G0 3h1 Hel BT =18d 9, 9 F AT H AT | 39 Aiors sht o siget au
&1 1%l TaT § @ AT 9| SSTE T ASTS o A9 b ANTH oh JT6L Tl ¢ YN 7| 95 ° A A
JTTTET % TG H JSh ThRI Alehil b BI oI off, TNAR 1 @ W e o1 3R J&f a T
AU U <1 HIg doh B feam o1l fordd € o= <ok 39 3Tel <61 fia # gwn U 31 sfagma @
91 A q% el 2§ | 3T off guR g H SHfEd A1 8 S Srer-3ren uidf % WY IS §¢ E |
HTEIHAT TS+ T A AT LA UTET Seteht gardl ITel # =Iet SITd 2 | TR sh1 ot 68 7y ! uferd
T ST @1 8| | ¥ Aqcdl 3hi ST 1 R R a1 1 @ 2| |9, T5H, fehed 3R 8 o g3
TG FHT G ol HEH! H G ATl eh STATeRYT hieTgerqul &1 1 8| el e@l gl Fdrsi Foi FAT |
AT 7 2 fob ATl 1 Ieieh AR 3768 A1 ST ST 7, Wt & 3UhT D13 STTHT HLA ATl 7 & | <
Sl GRI FIaenaTi 1 ITAM Hid §C A 39 3719 i Tohel] T-HERST & HA T8 q0eid | foewr et
T SATST T & | TAT § T o fofu el -orrey Wy feu Srd 8, et Y St 7, foepen i ot &
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Y3 TG 3R 91 hl HEH TS I &, Gl WAl T hiae ISTAT AT 8| I9-h FHRUT €14, T,
TE 3R W ATl 1 SR hich 319 Tqed Toh Tgd 91 & UH USHAT <1 o Jaehi ol Terd feun fe@md
8, TG 3T S=A1 bl Torg®r H e WSld 2| 3 315! OiE THEId & fob R ohl =Sl < iTeTd H ST 3]
e g & ot | A el T =me Tob AT TIfara gre 310 SRR o Wt STTEeh & |

71.  FITDE % ATUR T FATST foh TSIt o SR AqTII A2 UTH o fIT a1 6l %A €t gaieran
T HRIET 33T & 7 TY TE SWHH AR 7
TS St o ToTT SiHaT <l g <l < 23 T e s 3|

72. a1 = T8 Argd fob ot frfara greet 3e 1Rl & ufe SIrTEe 9 7 Ted Tl o S
HAAE ?
Rrfara &1 3R die A e HHa TEEEd & 3R Sifa 3R o % YR 9 €91 T
AATI o HeeREn i faeTe <4 B

73.  Treferiaa ® ST} | & o Jarsti ht i =t fersran oft, St 31t & e # fowr 7E uedt ? wew
TE qehIh SR BH TS ?
JTTSTEY | & o T G0 3hl HET A o To1C TSI H AT 3|

74, A A1 -7 TRVl AW, <M, €8 IR Ae il w1 THT Hh 319 TdeT doh UgE I B
AT BT AT D A1 8 ? T T Tehgh STLHH AT 7
ST g feu T Sret | AT S|

75. A1 S TS I SEerd & 7 T el Tehdth STL I AT R ?
e -fafg o fore gurdt widl Biewt 7% rél § ST

Frefafiaa 7= ! Tgeht I8 TT T (. 76 & 80) 3 TR I |

foramt =1 gAR S | waiferes T gidT 3 | 39 99 foam id &, 3H Yehr sl gt ot 31 e
H 3TTeRfNd i 21 Ffe g IcaTg TN 31He o foaml | @ 2, d Shied H 378! Je1311 o1 JTehitd hid
T 2 3R 8o fadia Frmem 3R forar & fomm Sftam § geentsti 1 31ot 3R Eied 31 g8l o
forgema F@ A 2 | =fe 70 =@ T A1 3199 991 97 W = foavard a2, @ feufa otem Bl @ 3k
Ife B 30 o T ThRIcHs 9 Wd T&d 8, a1 AR Sad e o A9er 8 W S| =11 A9
FHeft Sfied T e arett ge1aT 3T 37U 37 hl 39 qHY hl AT fommeres feufd w1 sresem e
7 7 A 39 3T, Icpoardl SR SATHATETE hl HeAl & A &, a1 HrI-Tafg 3 Foherar o 55d

01 14 MASTER



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

a2 | 38ek faadia frrem, Fa1, war 37K Heg & @y forw e foia dea Tera 3 wwetdr = fauda 2|
BHR 37T A1ET el & foem Tad & 3R 38 & i gurl amfies feafa aeordt wdt 21 8 7arem
JY shie, Mok, FeRepTelia 3sat, Tedt e, w1, fmsm 3mfe & Wi Ter urdes 8id 8 3R o 99 9%
FTeh! cfteram &6 ST, A 3R WTeHT €9 | W] 91 Tehdl &1 31T, Scpoetdl, JE-II,
gehH, fafesadn, wifa, wqfe, faveam, g anfe wre AT 8 & 3TR o5 T0 doh g 31
R R, Tfg 3R Teherar UTH <l ST Ehdt 21 hs IFTeh] A ST gRT 34 a2t 1 i 61 21 37
T IS 3 Tl W & <1 % < At gUiT ol HiMT H 9¢d Thd @ | I H TRETeHT § g e
HMGE 3NN WG shaal Iwg faga: 17wt feaman | Fe fom B o7 3 |

76. TmforRaa o form ot o et e AT © 7
TR, Scpeetdl, SE~TdT, Jebi, Tfvdadr, 9qfe, stfavar

77.  BHW G el R o 3T4HR B AR 7
T Shie, SNk, 3541, TeiaT, W=7 AT e AAINTS o §HY b 39+1 ofieraT & &6 g
FE |

78. TS T3 1 379 Sfie § AT i o foTu g1 <1 »eT Tnfeu 2
R FHM G, T fam & wer aitgia &1 =ty |

79. 3T QTR Shl TR H S SETl ST EHhRAT & 7
YA HfETseh o T 9 &M <ot THITIR TeHTcHeh o gia |

80. &9 HEI-falg 3 A%eId1 < 9gd T HF B & 7
el H ST, Scpeetdl 3TN STTeAlSRaT <ht Sl & STrasid gia € |

T, 818 85 : fr arfetent wer wdien § 91 SE1 R A7 B2 fIwai ° UTed 37eh! o gfdsrd &
T B | SAThSt I FEETIES feT Td Fe % 3T G -

Q. 81 to 85 : The following table gives the percentage of marks obtained by seven students in six
different subjects in an examination. Read the data carefully and answer the questions :

MASTER 15 01


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

e (stferaem ) / Subject (Max. Marks)
o / |/ | /| s / ﬁ:ﬂ:/ ot / | e/
Student | History | Maths | English Hindi | Computer
Biology

(150) | (130) | (120) | (100) | (60) | (40)
stwa /| 65 35 50 77 80 80
Ankit
Tww/ | 80 65 85 95 50 90
Brijesh
femm/ | 90 60 70 70 90 70
Chirag
fmy/| 70 75 65 85 40 60
Divvesh
e / 90 50 90 60 70 80
Ehan
W | 100 80 80 40 80 70
/ Earuk
Wew/ | 80 65 80 80 60 60
Gautam

81. IS H Tft UTd BT R W ST SEd 37eh fehan 8 ?
What are the approximate average marks obtained by all the seven students in English ?
89

82. @t farwri o 60% a1 3HH 31freh 37eh T A ATt BT hl TE@AT fehe1 7 7
The number of students who obtained 60% and above marks in all subjects are :
2

83. o o fawri o wgm gr uTwd et 37k feRaa & 7
What was the aggregate marks obtained by Ehan in all the six subjects ?
442

84. T3 @ fopm fower o ot wfererd =aw 2 7
T

In which subject the overall percentage is lowest ?
Maths

85. oI 1 H Tfawrd (T TRt 2 7

What is the overall percentage (approximate) of Brijesh ?
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78%

. 86 9 90 : freT ATfeTeht o1 WrEETHIYES e AT 3T I o I T |
ud & a8t § X ot g ffifa (891 #) 5 Wk sl I (A, B, C, D, E) 1 @ % 3fehs il fed me
2

Q. 86 to 90 : Study the following table carefully and answer the questions.
Data of Number of 5 types of cars (A, B, C, D, E) manufactured (in thousand) by company X
over the years given below :

R & THR / Types of car

'ﬂ'ﬁf / A B C D E
Year

2016 230 200 125 130 115
2017 240 220 228 165 212
2018 250 215 212 230 218
2019 260 218 230 220 125

2020 230 135 240 1
2021 255 130 250 2

86. 992016 ¥ 2021 % ATH X ot gy Ffdd /i ° 9 fore TepR bl o <) T 1Rrepaq 2 7

Which type of cars manufactured by company X during 2016 to 2021 is the maximum ?
A

0 120
0 130

87. TN 2016 ¥ 2021 T R ‘A’ o TG H STATHA Ffg Teha- Sfrerd o1 off ?
What was the approximate percentage increase in the production of car ‘A’ from 2016 to
20217
10.87%

88. et ol o ford TohR <hl T o IdTEH | Had Ifg ol I T8 7
Which type of car registered continuous increase in production over the years ?

30 @ HIS 81 / None of these

89. Y2016 HHR ‘E’ I ITEH, T4 2019 T R ‘B’ o ITE o1 THINHT febe T o7 ?

The production of car ‘E’ in the year 2016 was approximately what percent of the
production of car ‘B’ in the year 2019 ?
53.5%

90. %2018 2021 % NH HR ‘D’ % IcdTe H T fehe wicrera <l et g8 7

What was the approximate percentage decrease in production of car ‘D’ from 2018 to 2021 ?
4.35%
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Y. 91 & 95 : 1 =TE U Yaeh o UM H R T @ 1 Wi fordwer gwiar g | g 91
A I 3T 3IH W 3T T o I ST :

Q. 91 to 95 : The following chart shows the percentage distribution of the expenditure incurred in
publishing a book. Study the pie chart and answer the questions based on it :

LECERSIUK]

Promotion cost

e anTa 5%

Transportation cost
5%

DI
Royalty
20%

™
|\ TS AT
Paper cost
30%

Binding cost Printing cost
15% 25%

91. afe gkl ol Ueh FfRerd Wi o foT Sehiere s % 20,600 G0 AT s &9 § ST &l &, a1 39
] o o e ] 2o T

If for a certain quantity of books, the publisher has to pay ¥ 20,600 as printing cost, then
what will be the amount of royalty to be paid for these books ?
16,480

92. G AT W R T3 @ o I1TET WUE () T hgld HIT RS ?

What is the central angle of the sector corresponding to the expenditure incurred on
promotion cost ?
18°

93. J&i%h %l Yo, AN qod § 20% S 3ifehd fohalm o1 7 | AfE T&aeh o1 31fehd o 3 160 &7, a1
TEdeh <h! Teh Ufdl 8 ITANT fehdl TR STt Y oI R R 7
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The price of the book is marked 20% above the Cost Price If the marked price of the book is
T 160, then what is the cost of the paper used in a single copy of the book ?
40

94. fe 5200 wferEt 1 FepreH o T 3R TR ufEET @G < TR 80,500 B, A I H
ITHT Torsha S oI B =T ATfeh TehTeTeh 25% T ST STRSfd o Heh ?

If 5200 copies are published and the transportation cost on them amounts to ¥ 80,500, then what
should be the approximate selling price of the book so that the publisher can earn a profit of 25% ?
T 387.02

95. e shi T, JEUT oATTd & fohad wfrera w9 & 2

Royalty on the book is less than the printing cost by :
20%

Y. 96 9 100 : 7 [T TT% Teh ot gRI 99 2001 © 2007 5 2R fohd U AT <hY ThH § 39 huH]
i et 6t | 1 ITUTd gt @

Q. 96 to 100 : The following line graph gives the ratio of the amount of imports by a company to
the amount of exports from that company over the period from 2001 to 2007 :

ud & 91 7 U ST b A -Frata ge T SrE
Ratio of Value of Imports to Exports by a
Company Over the Years

2

1.5 12

1 08 0.9
0.6

0.5 0.3
0

15 1.6

2001 2002 2003 2004 2005 2006 2007

Y / Years

96. e ¥ 2004 F AT T 240 HUS AT 3R Y 2004 T 2005 T el §I =TT T 500 LS T,
¥ 2005 § AT feaT o1 ?

T 450 HUS

If the imports in 2004 was T 240 crores and the total exports in the years 2004 and 2005
together was ¥ 500 crores, then the imports in 2005 was :
T 450 crores
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97. form ad o Ul % 3TITa, fTd o STedad TuTias o ?

The imports were minimum proportionate to the exports of the company in the year :
2003

98. T 2003 H 2004 Toh AT H foha Wi Ifg g off ¢

What was the percentage increase in imports from 2003 to 2004 ?

21 9T / Data inadequate

99, Jfe 2002 H HUH T AT T 260 HUS AT, dr 2002 | o & Fiq o
Z 325

If the imports of the company in 2002 was T 260 crores, then exports from the company in
2002 was :
T 325 crores

100. e 72 a6t # 9 feraa aut § =i, =M & et o ¢

In how many of the given years were the exports more than the imports ?
4
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